Medway LEA Advisory Service

Rocks and weathering/ the rock cycle

8G & 8H

33 min

35marks

Q1-L3, Q2-L4, Q3-L4, Q4-L5, Q5-L5, Q6-L6

1.
(a)
(i)
C

1

(ii)
A

1

(iii)
D

1

(b)
igneous rock [image: image1.wmf]
if more than one box is ticked, award no mark
1
(c)
water is heated to form water vapour [image: image2.wmf]
1
if more than one box is ticked, award no mark

(d)
(i)
skeleton or bones
accept ‘spine’ or ‘backbone’ or ‘ribs’ or ‘skull’
1

accept ‘scales’
(ii)
fossils

1

[7]

2.
(a)
(i)
magma
1

(ii)
igneous
1

(b)
(i)
any one from
1

· thermal energy
accept ‘heat’ or ‘energy’
· electricity

(ii)

answers may be in either order
· solid

1

· liquid 
accept ‘fluid’
1

(c)
oxygen
1

[6]

3.
(a)
(i)
any one from

1

· the sea is nearer the church

· part of the church has gone

· part of the cliff has gone
accept ‘it has worn away’ or ‘it has been
eroded’ or ‘it has collapsed’

(ii)
the sea [image: image3.wmf]ü



1

(b)
any one from

1

· they are rolled around on the beach

· they rub against each other

· they collide with each other
accept ‘the corners get knocked off’
accept ‘they are eroded’

(c)
(i)
weathering[image: image4.wmf]ü


if more than one box is ticked
1

award no mark

(ii)
acid rain
accept ‘acid’ or ‘rain’ or ‘water’ or
1

‘carbon dioxide’ or ‘sulphur dioxide’ or ‘soot’

do not accept ‘greenhouse gases’
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4.
(a)
any one from

1

· pieces are broken off

· the cliff is worn away

· it crumbles
accept ‘erosion’
(b)
(i)
any one from

1

· remains or impressions of plants or animals which are very old

accept ‘a plant or animal buried for thousands of years’

· remains or impressions of plants or animals in a rock

accept ‘remains or impressions of plants or animals or living things’

(ii)
sedimentary

1

(c)
(i)
cooling of or crystallisation from magma or lava or molten rock
1

accept ‘from magma or lava’

accept ‘from volcanoes’

‘by heating’ is insufficient

(ii)
any one from

1

· they were formed in conditions where plants
or animals or living things could not exist

· magma is too hot for plants or animals to survive

(iii)
any one from

1

· larger in granite
accept ‘larger’ or ‘bigger’
· smaller in basalt

[6]

5.
(a)
any one from

1

· it contains more than one substance which are not chemically combined

accept ‘substances are not combined’

· they can be separated by physical means or by sedimentation or filtration

accept ‘they can be separated easily’

· she sees a red and a brown layer

accept ‘there are layers’

accept ‘it splits into sand and clay’

(b)
(i)
any one from

1

· heat the liquid

· evaporate the water
accept ‘leave it until the water had gone’

accept ‘leave it on a radiator’

accept ‘distill it’
‘leave it’ is insufficient

(ii)
 a deposit left behind
accept ‘a deposit’ or ‘a salt’
1

or ‘a solid’ or ‘crystals’
mark parts (b) (i) and (b) (ii) together

(c)
transported
all three processes in the correct order
1
deposited
are required for the mark
compacted

[4]

6.
(a)
(i)
5 or 6

1

(ii)
2 or 3

1

(iii)
1 and then 4
accept ‘4 and then 1’ for one mark
2

(b)
carbon dioxide + calcium chloride
answers may be in either order
2

(c)
no reaction or nothing
accept ‘soaks in’
1

accept ‘sandstone breaks up into grains of sand’ or ‘sandstone falls apart’ or ‘it reacts with the cement’

[7]
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